B.Sc. (AG) Semester — 111
Farm Machinery and Power
(AG 305)
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What do you mean by sprayer and duster? Write down classification of sprayer. Explain the
construction, working and main features of hand operated Knapsack sprayer.
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(a) Calculate indicated horse power and brake horse power of a 2 cylinder 4 stroke I.C.
engine having stroke length 15cm and bore diameter 12cm. The mean effective pressure is
7 kg/cm? and speed of crankshaft is 1200RPM. The frictional horse power is 11 hp.
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(b) A four cylinder four stroke engine has cylinder diameter of 25cm and stroke bore ratio

is 1:8. Calculate its stroke length and swept volume.
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Define tillage and write down its objectives. What do you mean by primary and secondary

tillage? Explain different components of a mould board plough.
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Explain the constructional detail of IC engine with neat sketch. Write down its working
principle.
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What is seed drill? What is its main function? Describe the process of calibration of seed

drill.
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(a) Calculate seed rate of a 7 x 17 cm seed drill whose main drive wheel diameter is 124 cm
and total weight of grains collected in 20 revolutions is 0.423Kkg.
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(b) Explain the sources of farm power in detail.
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(a) Determine the horse power required to pull a four bottom 32 cm plough, working to
depth of 14 cm. The tractor is operating at a speed of 5.5 kmph. The soil resistance is 0.8
kg/cm?.

14 T B TERIE dH B B Tl IR dicH 32 FH & BT Giad & ol awad g wRh &
forerfRor &Y | gdex @ Ty 5.5 kmph 21 gt gferier 0.8 kg/em? 2 |

(b) Explain the purposes of lubrication in IC engine.
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Write the classification of Tractor on basis of following:-
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Q) Purpose (i) Structural design
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(a) Define the following terminologies with respect to tractors:-
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Q) Gudgeon pin (i)  Swept volume
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(iti)  Carburetor (iv)  Top Dead Center
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(V) Crankshaft
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(b) Explain the working principle of thermos siphon water cooling system in IC engine.
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(a) Explain the functions of power transmission system.
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(b) Explain the working principle of oil bath air cleaner.
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